Posloupnosti -- řešení
1. posloupnost aritmetická

  a15 = -57   ; 120 je 74. člen

  součet 777

2.   aritmetická   a4 = 15  (d=6 ; a1 = -3) ; geometrická  a4 = 27  (q = 3 ; a1 = 1)

3.  10 let   10 256 341 . 1,01710 = 12 139 533

4. 22 465,17 KČ

5.  1184 KČ

6.     a1  = 1   ;  d = 2

7.   a1  = 2  ;  q = 3

8.   a4  = -64  ;  a5 = 65  

9.    a2 = 17  ;  a3 = 121

10.   d = 1  ;   a1 = 2

11.   2475

12.   vyplatí se první účet

13.   o  6,7 %

14  v prvním 25  ; v posledním 49
15. před přidáním 20%, po přidáním opět 5%

      při 50% ...pokrývají celý rybník
